== A
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ALS S X 95,907,424 78,224,092 17,683,332
= 53,013,394
Jl 92,136
& 10,692,961
Al 32,108,933
LosXsA 67,392,688 56,707,139 10,685,549
= 41,372,302
J| 15,566
& 6,234,969
Al 19,769,851
ColEX 20X 54,363,882 45,912,684 8,451,198
=2 41,312,668
J| 15,566
o= 2,446,351
Al 10,589,297
=32 X2 45,208,878 38,950, 138 6,258,740
= 36,167,102
o= 1,808,356
Al 7,233,420
301 et M= 45,208,878 38,950, 138 6,258,740
=2 36,167,102
= 1,808,356
Al 7,233,420
01 A& A 252 45,208,878 38,950, 138 6,258,740
OJI=S12(14,817%) 45,208,878,0002 45,208,878
2 36, 167,102
< 1,808,356
Al 7,233,420
Lol xie] Y ASESHE S (=oYXel & A 6,626,680 4,897,420 1,729,260
Slgs EHA XNE)
=2 3,313,340
= 497,001
Al 2,816,339
307 2I2t0| ™ 6,626,680 4,897,420 1,729,260
=2 3,313,340
= 497,001
Al 2,816,339
11 ABI=Z XA 2 6,626,680 4,897,420 1,729,260
OLQldXIe L A ESKR(1,921H)
6,626,680,000& 6,626,680
= 3,313,340
o=t 497,001
Al 2,816,339
Colxtel L ASESKE SH(DXTe L A 328,992 249,678 79,314
S|E8s MEola olAY|)
2 164,496
= 24,674
Al 139,822
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| | A 5,560
Lo=X LEHXA 11,863,179 9,641,750 2,221,429
< 3,674,245
Al 8,188,934
Lo=E2a2d 856,449 768,677 87,772
< 52,000
Al 804,449
307 2I2H0I A 856,449 768,677 87,772
< 52,000
Al 804,449
05 BIZHRIE 3 856,449 768,677 87,772
Okol=sXa& A (e2dl) 634,593
-=20(159%) 462,257,000 462,257
< 52,000
Al 410,257
-H===(159) 80,037,000& 80,037
-EINHE =S 44,052,000 44,052
-ALE EE R Y3 48,247,000 48,247
OLo=Xa A= (2LHl) 221,856,000& 221,856
LoEX2 & BAX HRIHLHI 11,400 10,800 600
< 11,400
301 LEPEXF 11,400 10,800 600
< 11,400
01 MEIBEE 263 11,400 10,800 600
Okosia & SAXL ML
50,000 x 19 «12& 11,400
< 11,400
Lo=ET2 HSAE Js:2 773,000 0 773,000
401 Al HIZ 2018 773,000 0 773,000
01 A& HI 760,000 0 760,000
oLol=xa MSAE JIIsB2(ES)
760,000,000& 760,000
02 2feldl 10,000 0 10,000
oLol=sxa MSAE JIIsB2(EE)
10,000, 000& 10,000
03 A& =2 THHI 3,000 0 3,000
oLo=sxa MSAE JIIsB2(EE)
3,000,000& 3,000
Lolgitel Y AMSESKE (=L =3I 94,296 85,294 9,002
2 XE(dHorzews))
< 20,190
Al 74,106
307 21201 A 94,296 85,294 9,002
< 20,190
Al 74,106
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o124 d| (2H 65,281,000 65,281
< 20,190
Al 45,091
-H==g(2Y) 12,059,000& 12,059
= ES SR = 6,445,000 6,445
-ASIEERE S 8,111,000& 8,111
OaHo w3 2 (224l) 2,400,000 2,400
ColgTtel BAR AR D (- Ktel )| 9,600 7,800 1,800
2 SALN MM
< 9,600
301 LA S 9,600 7,800 1,800
< 9,600
01 MEIBZE 2053 9,600 7,800 1,800
O eldRiel =&I& SAXN MLl
50,0002 x16H «12& 9,600
< 9,600
COIOIBAIE BAR Sa224Y 22,800 27,000 A 4,200
= 2,280
Al 20,520
301 LEEXZ 22,800 27,000 A 4,200
< 2,280
Al 20,520
01 MEIBEZE 06z 22,800 27,000 A 4,200
OLo=EX2& S SML S22 (15%)
22,800,000& 22,800
< 2,280
Al 20,520
COIOIBAE(LOURIE) BAK S42R4Y 3,600 0 3,600
< 360
Al 3,240
301 LEXZ 3,600 0 3,600
= 360
Al 3,240
01 MEIBZE 06z 3,600 0 3,600
OLQ0IEANE(LolLREl) BAX S22+
g(2g) 3,600,000& 3,600
< 360
Al 3,240
Lol A ALY 33,427 35,700 A2,273
< 10,028
Al 23,399
307 glz2tol & 33,427 35,700 A2,273
< 10,028
Al 23,399
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10 M3 SAANEEHESIGHEX 31,927 26,696 5,231
O QA AR (10 4) 31,927,000 31,927
< 9,578
Al 22,349
11 A EXAIEE X 1,500 9,004 NT,504
OOl A ALY 1,500,000 1,500
< 450
Al 1,050
Lol A QA A ALY 20,000 20,000 0
< 6,000
Al 14,000
307 2Iz2to| A 20,000 20,000 0
= 6,000
Al 14,000
11T A EXAIEEX 20,000 20,000 0
Okol & QAINS AL 20,000,000 20,000
= 6,000
Al 14,000
SHEQ JtYIol&GIRA 29 A& 10,000 10,000 0
& 3,000
Al 7,000
307 giztol A 10,000 10,000 0
& 3,000
Al 7,000
11T A EXAIEEX 10,000 10,000 0
OSHEOl HH0IEGHRA 29 KA (1HL)
10,000,000 10,000
= 3,000
Al 7,000
NASE MIEL=Ql AAIHHE 172,800 172,800 0
& 17,280
Al 155,520
307 gizto| A 172,800 172,800 0
& 17,280
Al 155,520
11T AISIEXAIEEX 172,800 172,800 0
OMAS THIHECl AAMHE
3,200 180 25 x12& 172,800
& 17,280
Al 155,520
LOQAANE 29 21,598 20,360 1,238
&< 6,480
Al 15,118
307 2iz2to| A 21,598 20,360 1,238
&< 6,480
Al 15,118
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11T A EXAIEEX 21,598 20,360 1,238
OLQQQAUALE 2H(1MA) 21,598,000 21,598
= 6,480
Al 15,118
LOIAZQAANESAMA E222H 65,400 75,000 A9,600
= 6,540
Al 58,860
301 et A =2 65,400 75,000 A9,600
= 6,540
Al 58,860
01 Al B & X 26 2 65,400 75,000 A9,600
OLQYZRAFANLSAN S4224Y XS(3
19) 65,400,000 65,400
= 6,540
Al 58,860
LOIUZQAANNE JIIZNMELZX A E 13,534 14,580 A 1,046
& 1,354
Al 12,180
307 giztol & 13,534 14,580 AN 1,046
& 1,354
Al 12,180
11T A EXAIEEX 13,534 14,580 A 1,046
OLQURQUAAL IZMBLS T X2 (262)
13,534,000 13,534
& 1,354
Al 12,180
LOIAIIRYF AIEAZS N 6,374,892 5,335,892 1,039,000
& 3,187,446
Al 3,187,446
307 gizto| A 6,374,892 5,335,892 1,039,000
& 3,187,446
Al 3,187,446
11T A EXAIEEX 6,374,892 5,335,892 1,039,000
OFIQY AMES0(246Y) 6,374,892,000& 6,374,892
= 3,187,446
Al 3,187,446
ORI IS O 2,221,694 1,882,792 338,902
o= 222,169
Al 1,999,525
307 QI2t0| ™ 2,221,694 1,882,792 338,902
= 222,169
Al 1,999,525
11 A EXAIEE X 2,221,694 1,882,792 338,902
O&INLRY IS (165YH) 2,221,694 ,000& 2,221,694
& 222,169
Al 1,999,525
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Usteolsl X (AXs 29) 62,997 61,400 1,597
307 gl2tol & 62,997 61,400 1,597
02 It M AHE L 2,200 2,000 200
Okl AL XA 2,200,000& 2,200
03 QIAHMNHE2IHIEE 60,797 59,400 1,397
og=ele AMXls 23 60,797
-4 | 50,599
CAE=FE 21,544,000 21,544
i 29,055,000& 29,055
-2 10,198,000& 10,198
SEIX AL 2el 82,822 80,410 2,412
201 et 42,502 39,930 2,572
01 At 22l 4,002 3,430 572
OZ24IAX 2228 +2 2,000,000& 2,000
Oty A 2ol 14,3002 » 14004 2,002
02 2324l 38,500 36,500 2,000
Oz EXEs= A 4,500,000 4,500
OSEIA &L M 2D QA FA2(
HE H= S) 34,000,000& 34,000
301 LeHBAF 320 480 A 160
12 JIEtE4 = 320 480 A 160
OSE2X XA BEA(H4I2H WSHMEIR
) 8,000& 20 #23| 320
401 AIEHI L 2 CHYI 40,000 40,000 0
01 A& Bl 40,000 40,000 0
OS&ERX = 40,000,000& 40,000
Iz =g 0 sl 275,000 275,000 0
< 82,500
Al 192,500
301 LEHZ 275,000 275,000 0
< 82,500
Al 192,500
01 Ml2EZE %06z 275,000 275,000 0
OJz=d& =g Esthed|
50,000& *1,100H 53 275,000
< 82,500
Al 192,500
LO=SNEE HNB(MSLES) 6,660 6.660 0
< 1,998
Al 4,662
307 gl & 6,660 6,660 0
< 1,998
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Al 4,662
11T A EXAIEEX 6,660 6,660 0
OLosX ez 5,000 * 1110 A x12& 6,660
= 1,998
Al 4,662
MNASLQIIR HAABEHS XS 96,000 80,000 16,000
=} 28,800
Al 67,200
307 QI2t0| & 96,000 80,000 16,000
=} 28,800
Al 67,200
11 A EXAIEEX 96,000 80,000 16,000
OMASELQIIR HABEHZ(1,200¥)
96,000,000 96,000
=} 28,800
Al 67,200
LOIsiAL & S &ed 548,570 599,050 A 50,480
201 et Y| 9,100 3,000 6,100
01 AP 2t 2] H| 9,100 3,000 6,100
OZzY 2HAE HFAxH 100,000& 6 H 600
OAME 2RI 24AdR/AJ3 &G
100,000& x6H *23| 1,200
OFIAI2 XA MAMRAYS HFAELH
100,000& x4H «12& 4,800
oRgdE=Y o HA 200,000 x304 &~ 600
OLOAIZAIYE 22 & 23| 1,300,000 1,300
O2JI18&D| dxz 50,000& 10~ 12& 600
202 04| 3,220 4,600 A 1,380
01 2L I 3,220 4,600 A 1,380
OLol=x & HALLE=X(7E) 3,220,000 3,220
203 €2 F=&d| 5,000 5,000 0
03 Al ZH =X 2= XIH| 5,000 5,000 0]
OMESX YW AIHFTRNALZFXH 5,000,000 5,000
301 LBt A= 531,250 586,450 A 55,200
01 AISIE & A %62 528,000 583,200 A 55,200
OFxLoxg 20,000 %2, 200H x12& 528,000
09 #HAIAHI XIS 2 3,250 3,250 0
OHdAZE3 & W=l 130,000& 25 3,250
LColol & AKX 11,000 2,000 9,000
307 212t0| ™ 11,000 2,000 9,000
11 A EXAIEE X 11,000 2,000 9,000
Okoloy siAI2A| 11,000,000 11,000
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SA - BB B () - MM - BES Ol &t o San HmEET
Ol 0lE ALK& 50,000 50,000 0
201 £B-2d| 50,000 50,000 0
03 A2 Z Hl 50,000 50,000 0
O0BI0lE #AXA 50,000, 000& 50,000
DYUEAN SZ0I(aAAH) X 10,000 10,000 0
301 LBEHZ 10,000 10,000 0
12 JIEBHE4 3 10,000 10,000 0
olngoad sZol(gaHE) X
10,000, 000& 10,000
HX 5= 024 X3 6,640 6,660 A 20
< 3,320
Al 3,320
301 LEHZ 6,640 6,660 A 20
< 3,320
Al 3,320
12 JIEBHE4 3 6,640 6,660 A 20
OHX &= =4l X&(50Y) 6,640,000 6,640
< 3,320
Al 3,320
SHZW SHols HHHOIE A 4,000 3,875 125
201 LBt 4,000 3,875 125
03 &Ar2 Z I 4,000 3,875 125
O=AHl eHote HHOIE A
5,000& *x800H 4,000
LolYRtel =3I L SAA X 5,000 0 5,000
< 1,500
Al 3,500
307 glz2tol & 5,000 0 5,000
< 1,500
Al 3,500
11T MIEXAISEX 5,000 0 5,000
Ok gdRtel a2 X 5,000,000& 5,000
< 1,500
Al 3,500
22Y X 982,627 973,435 9,192
= 59,634
< 114,373
Al 808,620
22 45 N (2Ll ) (<o) 204,600 204,600 0
< 20,460
Al 184,140
307 21201 A 204,600 204,600 0
< 20,460
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Al 184,140
11T MISXASEX 204,600 204,600 0
Od2d 2Zdl XI& 155,000& 110 2122 204,600
< 20,460
Al 184,140
dz2Y 843 XA (KH) 137,061 106,375 30,686
307 21201 A 137,061 106,375 30,686
10 ALSISXAIEEE2IHEX 27,861 27,175 686
OZzg Zzgae|it X 27,861,000 27,861
11T M XA EX 109,200 79,200 30,000
OZ2% =Jt 294 XA 79,200,000& 79,200
OZ=zg DTyl N3 (XA) 30,000,000 30,000
dZ2AME ResA 258,552 238,140 20,412
< 25,855
Al 232,697
307 21201 A 258,552 238,140 20,412
= 25,855
Al 232,697
11T AL SXAEE X 258,552 238,140 20,412
OZ2AE g4 2,700 «380H 212 «12& 258,552
= 25,855
Al 232,697
d2Y #4ds NA(ZZ8H XJ) 12,000 30,000 A 18,000
= 1,200
Al 10,800
307 glz2tol & 12,000 30,000 A 18,000
< 1,200
Al 10,800
11T MISXASEX 12,000 30,000 A 18,000
OZg4d T2 )8Hl X& 12,000, 000& 12,000
< 1,200
Al 10,800
dZAGFHAMRAAL(ZH]) 32,880 19,920 12,960
< 3,288
Al 29,592
307 21201 A 32,880 19,920 12,960
< 3,288
Al 29,592
11T MISRASEX 32,880 19,920 12,960
OZFzAY FAA oAHHl(2¥)  32,880,000& 32,880
= 3,288
Al 29,592
dzY 243 KNI (MISAESH XH) 99,000 99,000
< 9,900
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Al 89,100
307 glz2tol & 99,000 99,000 0
< 9,900
Al 89,100
11T MISXASEEX 99,000 99,000 0
OAFZY MEZAESH
75,0003 * 11000 2128 99,000
< 9,900
Al 89,100
ZE2E Wity ¥ 224 XA 238,534 245,520 N 6,986
= 59,634
< 53,670
Al 125,230
301 LEXZ 238,534 0 238,534
= 59,634
< 53,670
Al 125,230
01 MEIBEZE+05l= 238,534 0 238,534
OZ2Y Wittt & 23Hl XA (11004 A)
238,534,000 238,534
= 59,634
< 53,670
Al 125,230
Lo=EXDEEE 183,000 179,270 3,730
FZANE &5 183,000 179,270 3,730
201 £B-2dH| 3,000 0 3,000
02 =224l 3,000 0 3,000
Oz 23 =dl 3,000,000& 3,000
401 A& HIZ 201 I 150,000 150,000 0
01 A& HI 150,000 150,000 0
OZ2Y U3 AY 150,000, 000& 150,000
405 TtHabF S| 30,000 29,270 730
01 AL EFH S 30,000 29,270 730
OZ2Y 88 7 (E=28 )
20,000,000& 20,000
OZ=zg Ww) 2 (8M) 10,000, 000& 10,000
e s 17,656,145 11,340,430 6,315,715
= 6,440,104
< 2,966,468
Al 8,249,573
FoerEX =0X& 9,460,558 7,675,354 1,785,204
= 6,440,104
< 494,489
Al 2,525,965
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= 2,018,998
< 173,057
Al 692,228
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= 2,018,998
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Al 692,228
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< 15,857
Al 89,854
301 LEHZ 352,367 353,050 A 683
=2 246,656
< 15,857
Al 89,854
01 MI28E 6= 352,367 353,050 A 683
OXM==(II=)X2(787Y) 352,367,000& 352,367
= 246,656
< 15,857
Al 89,854
Zos=g(Ha? S) Xa 251,659 252,920 A1,261
= 176,161
< 11,325
Al 64,173
301 LEEXZ 251,659 252,920 A1,261
= 176,161
< 11,325
Al 64,173
01 MEIBEE 263 251,659 252,920 A1,261
OB+ (Xa2 S)XS(424%)
251,659, 000& 251,659
= 176,161
< 11,325
Al 64,173
ZOHe EsSXNESH XA 4,670,144 2,936,708 1,733,436
= 3,269,101
< 210,156
Al 1,190,887
307 glz2+ol & 4,670,144 2,936,708 1,733,436
= 3,269,101
= 210,156
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< 3,014
Al 17,075
11 ASI S XA E X 66,963 0 66,963
OFAE LI EM LRSS HHIA XJ(
10Y) 66,963,000 66,963
2 46,874
< 3,014
Al 17,075
ZOoel=X LEX&A 7,626,190 3,249,129 4,377,061
= 2,368,061
Al 5,258,129
SH o= 170,000 165,120 4,880
S 68,000
Al 102,000
301 LEXZ 170,000 165,120 4,880
< 68,000
Al 102,000
01 A3l EE E 56l 3 170,000 165,120 4,880
O&ZHl o=+ (355Y) 170,000, 000& 170,000
= 68,000
Al 102,000
Foper=sNa2g 1,321,919 1,295,066 26,853
< 70,000
Al 1,251,919
307 21201 A 1,321,919 1,295,066 26,853
< 70,000
Al 1,251,919
05 RIZt2IEt = 1,321,919 1,295,066 26,853
O&¥er=x2 29 1,234,479
-1 24| (259) 822,589,000 822,589
< 70,000
Al 752,589
= 117,999, 000& 117,999
-EAAYZ 80,604 ,000& 80,604
-AEEEEEZS 100,287,000& 100,287
-2dHl 113,000, 000& 113,000
OFMH=R2 AlY 29 87,440,000 87,440
ZOHCIHIIHFAIE 2F 240,505 229,644 10,861
< 24,051
Al 216,454
307 21201 A 240,505 229,644 10,861
< 24,051
Al 216,454
10 ALSISXAIEEER2IHEX 237,505 226,644 10,861
OZMHAHIINFALE 295 237,505
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-0l Al (4%) 135,469,000 135,469
< 23,087
Al 112,382
-H==< 44,879,000 44,879
-E Y Z 12,599, 000& 12,599
-AEEEEREE 3 16,086, 000& 16,086
-2dHl 28,472,000 28,472

11 AISI S XA E = 3,000 3,000 0
OHMHAHIIHNFAE AHEX 3,000,000& 3,000
= 964
Al 2,036

HOHF2UHESAE 2 249,950 222,267 27,683
< 24,995
Al 224,955

307 Qi2tol & 249,950 222,267 27,683
< 24,995
Al 224,955

10 M2 SXNANEHE2IHEX 244,950 217,267 27,683
OHUMI=AESAE 2 244,950
o124 4| (5%) 150,841,000& 150,841
< 23,995
Al 126,846
-H=< 29,983,000 29,983
-—EAAYZ 13,860,000& 13,860
-AEEEEREE3 16,164,000& 16,164
-29gtl 34,102,000& 34,102

1A S XA E X 5,000 5,000 0
OZOMHI=24ESAIE A XA 5,000,000& 5,000
< 1,000
Al 4,000

=S 29 216,810 213,659 3,151
< 21,681
Al 195,129

307 2Iztol ™ 216,810 213,659 3,151
= 21,681
Al 195,129

10 M3 SXNANEHI2IHEX 216,810 213,659 3,151
O=0s9dH 24 216,810,000& 216,810
< 21,681
Al 195,129

Zoel MEolsXJAdH 249 145,822 133,900 11,922
< 14,582
Al 131,240

307 2Iztol ™ 145,822 133,900 11,922
= 14,582
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Al 131,240
10 MM SAANEEHESIGHEX 145,822 133,900 11,922
OZofe MEQISXNIEHAEH &4 145,822
-0124H|(39) 95,367,800& 95,368
& 14,582
Al 80,786
M= 11,480,940& 11,481
-g A2 8,904,110& 8,905
-ANIBEEY = 11,173,150 11,174
-2 | 18,894,000 18,894
eI AIE 29 XK (7TE) 133,226 87,131 46,095
= 13,323
Al 119,903
301 et ™= 26,500 19,800 6,700
= 2,650
Al 23,850
01 Al E & A 452 26,500 19,800 6,700
OBMNOAHFAL NATHEANLBAR S£22
IR (7E,129) 26,500,000 26,500
= 2,650
Al 23,850
307 2I2t0| & 106,726 67,331 39,395
o= 10,673
Al 96,053
10 M3 SXNANEEHESIHEX 106,726 67,331 39,395
OXEMHAERAILE 29 XKA(TE)
106,726,000 106,726
& 10,673
Al 96,053
HOHQASKIAA QAT X (45) 7,296 7,296 0
= 2,189
Al 5,107
307 2I2+0 & 7,29 7,296 0
= 2,189
Al 5,107
11 A EXAIEE X 7,296 7,296 0
OZMUER AL AAX XK (45)(329)
7,296,000 7,296
= 2,189
Al 5,107
RN AT HEAL SAR S+224Y X 59,400 60,000 600
o= 5,940
Al 53,460
301 et M= 59,400 60,000 A 600
=} 5,940
Al 53,460
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OZMHATAASTHEANLBMI S22+
X2 (37¢) 59,400,000& 59,400
< 5,940
Al 53,460
M2 SXSAL HLHEH X3 30,000 28,200 1,800
< 30,000
301 LEd = 30,000 28,200 1,800
< 30,000
01 MI2EZE +05l= 30,000 28,200 1,800
OXOMHA=SKSALR MM AH XA
50,0003 x50 «12& 30,000
< 30,000
SSZHAXYMSHE XD 157,289 157,270 19
= 63,996
Al 93,293
301 LEH = 1,800 1,800 0
< 1,800
01 MI2ZHE +06l= 1,800 1,800 0
OZSSHMHANSHEHE SAX MR
PR 50,0003 x3H 12 1,800
< 1,800
307 21201 A 155,489 155,470 19
< 62,196
Al 93,293
03 QIZtHNHEB2HHEX 155,489 0 155,489
OZZHMANSMEHEH XIS (1HA)
155,489,000& 155,489
< 62,196
Al 93,293
ANZ BOHQBOIAL JSXRNE 2 65.000 65,000 0
< 19,500
Al 45,500
307 21201 A 65,000 65,000 0
< 19,500
Al 45,500
10 ALl SXNAIEEE2EHEX 65,000 65,000 0
OXFOABEHYAL J=NIALMH 2D (1HL)
65,000,000 65,000
< 19,500
Al 45,500
ZOHU=XAIE HezzJy X 12,280 0 12,280
= 3,684
Al 8,596
307 21201 A 12,280 0 12,280
< 3,684
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Al 8,596
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Al 8,596
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oo sk 20 =N 211,041 152,000 59,041
< 84,416
Al 126,625
307 glz2tol & 211,041 152,000 59,041
< 84,416
Al 126,625
11 AIS S XALEE = 211,041 152,000 59,041
QX =sX& 20 FIAA(59Y)
211,041,000 211,041
< 84,416
Al 126,625
o s 20 24A12 X & 153,965 0 153,965
< 46,190
Al 107,775
307 21201 A 153,965 0 153,965
< 46,190
Al 107,775
11 ALS S XA E = 153,965 0 153,965
OXZOMe =XIAS0 244120 XA (3Y)
153,965, 000& 153,965
< 46,190
Al 107,775
ZOHQI I & L] 114,000 110,900 3,100
< 45,600
Al 68,400
301 LPEAF 114,000 110,900 3,100
= 45,600
Al 68,400
01 Al EE H 56l = 114,000 110,900 3,100
OZXO0HI b eyl (3090t +)
114,000, 000& 114,000
< 45,600
Al 68,400
MAas Zojel o=d X 18,000 21,000 23,000
< 7,200




2N
e =SXsN

el

X ZH
S =

Akl = X1 ot

ZOHOIZ X LEHKl &

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 10,800
301 LEXZ 18,000 21,000 A 3,000
< 7,200
Al 10,800
01 MEIBEZE 05z 18,000 21,000 A 3,000
ONMAS ZHOiQ 2lZdl XA (129)
18,000, 000& 18,000
< 7,200
Al 10,800
ZU=RNEE B2 13,000 13,008 A8
S 5,200
Al 7,800
307 glz2tol & 13,000 13,008 A8
< 5,200
Al 7,800
11 ALSI S XA E = 13,000 13,008 A8
OXeI=XAE BES(2779t+) 13,000,000& 13,000
= 5,200
Al 7,800
ZOCIAlE 2 57,000 20,977 36,023
401 Al Bl 28I 57,000 20,000 37,000
01 A& HI 57,000 20,000 37,000
OHMAHK S MR R A= RANES
20,000, 000& 20,000
O =X2 =& HtSE 3 A 22,000,000 22,000
OFfeI=Na 28 22 == WA
8,900,000 8,900
OFMH=N2 2 A8 THIA
6,100,000 6,100
ZOHI=REH =2 5,596 14,800 A9Q,204
201 Let24d] 2,796 0 2,796
01 At 2teltl 2,796 0 2,796
Ol TelAtY HE AJ =
150,000& x9H 1,350
OFMHA=ARE 50 Fa4g
100, 0002 »9H 900
OXZOCl A=Kt HXI 1,050& *5200H 546
202 O4dl 2,800 4,000 21,200
01 =S LHAYI 2,800 4,000 A 1,200
OZOMe HRFX(5Y) 2,800,000& 2,800
ZOHQIS & A} 12,000 10,500 1,500
307 glz2+ol & 12,000 10,000 2,000
11 ASI S XA E X 12,000 10,000 2,000
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OFele & &AL 12,000, 000& 12,000
M 2 SSZHC THEAMY 32,254 25,100 7,154
307 glz2+ol & 32,254 25,100 7,154
03 BIAtHMHE2IHIEE 28,391 25,100 3,291
QXIS XNE SEX 2G(NMEM 0ls
BX 2 MHEAMY S) 28,391
v al:] 22,254,000 22,254
-2dHl 6,137,000 6,137
11T MISXASEX 3,863 0 3,863
O&JIE SHeoY, NMEMHAM=HE &HA
A& 3,863,000 3,863
A ZEEOHQN TH &AM 33,250 28,251 4,999
307 glz2+ol & 33,250 28,251 4,999
03 BIAHNHE2IHIEL 23,750 20,351 3,399
ONLZMHOIES DY U A0S X2 2
& 23,750,000& 23,750
11T M Z2XASEX 9,500 0 9,500
OAZZe BtnE, 23ME S
9,500,000& 9,500
ZOHAE HEns & ME 9,200 5,000 4,200
307 gl2tol & 9,200 5,000 4,200
11T M SXASE EX 9,200 5,000 4,200
OFOMLAXNE EQEI O, IO S
9,200,000 9,200
2 AN HEAS 9,000 5,000 4,000
307 21201 A 9,000 5,000 4,000
11T AL SXAEE X 9,000 5,000 4,000
OF2 - ANHFOML MIFWE, 2HLAY, =
oreloiEg =N 24 XNE S 9,000, 000& 9,000
DS THEAY 8,590 4,000 4,590
307 21201 A 8,590 4,000 4,590
03 A EES2LHIES 4,110 0 4,110
OuUSZH THEAY 2E = 4,110,000& 4,110
11T M SXAISE EX 4,480 4,000 480
OusZHe NSHBHR HALSSHE S
4,480,000 4,480
HOHQEN BSHEs 2d3 N& 2,500 0 2,500
307 gl2tol & 2,500 0 2,500
10 AL SXNAIEEE2EH EX 1,500 0 1,500
OZMAAHMESHEs 2435 N
1,500,000 1,500
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11T M SRASE EX 1,000 0 1,000
OZOHAUHA HA Xt X 1,000,000& 1,000
ZH=FX 2 HE AL 1,500 0 1,500
307 glz2tol & 1,500 0 1,500
10 ALSISEXAIEEE2EHEX 1,500 0 1,500
O =X2 HaEAmd 29 1,500,000 1,500
SSEMAUE SSEN2Z 33,000 32,200 800
307 21201 A 33,000 32,200 800
10 ALSISXAIEEER2IHEX 33,000 32,200 800
O=ZZMHeES e SsEx 29 33,000
e al= = 27,960,000& 27,960
-2H(MHSRXH S) 5,040,000& 5,040
OO 22 XNFA 5,000 5,000 0
307 2201 A 5,000 5,000 0
11 A S XAEE = 5,000 5,000 0
OZMHAEHT 2N (MSEMO, AFH W
o & tHeel nH S) 5,000,000 5,000
FojgdsEER S8 £X 7,500 0 7,500
405 XtatE SHI 7,500 0 7,500
01 AL EFH S 7,500 0 7,500
OFMESEEF SHI| &
2,500,000 *3CH 7,500
OISO 2HAR THEXZ 3,000 6,000 A 3,000
307 21201 A 3,000 6,000 A 3,000
01 922724l 3,000 6,000 A 3,000
OQZSEWol2 Halt MEX= (1Y)
3,000,000& 3,000
HeZe s4XIdz £ 2=l 8,000 8,000 0
301 LEEAZ 8,000 8,000 0
01 MEIBEZE 06z 8,000 8,000 0
OW&ZEM ESMXES 2 2=FHI(7Y)
8,000,000& 8,000
ZOA=RIE SISEHS 4,000 4,000 0
201 ¢er24l 4,000 4,000 0
02 =224l 4,000 4,000 0
OFHUML=XINE SIRHEHS 4,000,000& 4,000
ZOHQ HOAL FEEZANQRE 2 14,762 0 14,762
< 4,429
Al 10,333
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Al 10,333
10 MM SXAANEEHESIGHEX 14,762 0 14,762
QTR oAl SEHIAMNRY 2 (1Y)
14,762,000 14,762
&< 4,429
Al 10,333
HojelEXN LA H2ANEE OtA 32,712 28,100 4,612
= 13,085
Al 19,627
101 Q124 H| 32,712 25,940 6,772
= 13,085
Al 19,627
04 JI2ZtHIZ22NEES 32,712 25,940 6,772
OZoel=xgite MR2XNEH ItA(1Y)
32,712,000 32,712
& 13,085
Al 19,627
O ATXIEHLME =M 3,603,600 0 3,603,600
= 1,800,000
Al 1,803,600
201 et d| 3,600 0 3,600
01 AP 2t 2| H| 3,600 0 3,600
OHOMR AZXTHEME XH2e MAIRE
100,000& »36H 3,600
401 Al HI L 204 HI 3,600,000 0 3,600,000
o=} 1,800,000
Al 1,800,000
01 A& H| 3,590,000 0 3,590,000
OXOQ AXXTHEHME XA
3,590,000,000& 3,590,000
= 1,795,000
Al 1,795,000
03 Al 201 Y| 10,000 0 10,000
OTOHO ATZXTHEHME =M 10,000,000 10,000
& 5,000
Al 5,000
XA Ao oAl A WE 630 0 630
201 LBt Y| 630 0 630
01 AP 22| d| 630 0 630
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BSEAEY SZIMA S A 361,383 0 361,383
401 AIEHIZL 2 0HY| 350,000 0 350,000
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OBS&HAE Z2tTHHIX & &HMA
350,000,000& 350,000
405 XHA&HF S HI 11,383 0 11,383
01 XML 2 FF S| 11,383 0 11,383
OBS&EYE HIIE 7Y 11,383
-gfs HAREE) 182,000& *3JH 546
-OISAANSR(ZAZ) 143,000 34 429
22 oRH(AAZ) 200,000 =34 600
-39 2 EX(EIAR) 250,000 =14 250
-39l OXH(HOlA!) 70,000 «8JH 560
-AFS 8 (4018) 320,000 = 107K 3,200
-8 HA(HO|A) 280,500 64 1,683
=22 OXH(HO0|Al) 120,000& =184 2,160
-3¢ IHHIW 158, 000 & *54! 790
-5CH I HIH 233,000 x54! 1,165
AIBEEHE AIRA S&BHE Z2A 53,510 0 53,510
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53,510,000 53,510
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= 103,918
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MO ATHEANLE2H 412,804 269,085 143,719
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307 gizto| A 412,804 269,085 143,719
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10 MM SAANEEHESIGHEX 412,804 269,085 143,719
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SA: AEIEX D
Hu: ool 2B
Sl MOjIN M B CER-ED

Ol

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

“MIBERES 28,685,000 28,685
-2 2 54,499,000& 54,499

el EFsE=2L0 29 156,593 146, 862 9,731
62,637
Al 93,956

H

307 glz2tol & 156,593 146, 862 9,731

62,637
Al 93,956

t

11T M SXASEEX 156,593 146, 862 9,731

156,593,000& 156,593

62,637
93,956

= M

orEs=sXsd 1,941,261 1,728,778 212,483
787,980
245,904
907,377

= N W

ots=EX =10X& 1,481,359 1,313,400 167,959
787,980
103,709
589,670

Z W

HAHNES OlsSEAHIA X 161,000 154,240 6,760
128,800

4,830
27,370

=z N H

201 LEr2A | 26,000 32,500 26,500
20,800

780
4,420

=z N H

]l 18,400 25,000 26,600
SAEEMdH 2 Jl=Z4l 6,000,000 6,000
4,800

180
1,020
OEEAEE EE2E3F 728 2,500,000 *43 10,000
8,000

300
1,700

= N W

= N H

400,000& 6 2,400
1,920
72
408
6,000 6,000 0
3,000,000 3,000
2,400
90
510

= N H

00 oo
H0
02
=

O o
00
_>'{_|

o
10
]
T
4

= HnH




AN ALEI =X
3 ois=Asd
el Ots=EX 20X

= A

CHE - EI(SA) - NRAY - B S

Off &t 24

2

=
i

03 &#At2 S
ES

OEHAEE EHOIXN RXE=+

2,000,000&

1,000,000

m =
Im
Ho
fol
o
18]

28 M (63l)
800,000&

O
i
3]
S|
J0
I5]

208 ZA=E
30,000& = 102] «2Al 2t

OXESALE 2AZE XS(13]) 200,000

= N W

= MW

= Hn

= MW

= N H

2,000

1,600
60
340

1,000

800
30
170

1,600

800

640
24
136

600
480

102
200

160
6
34

1,500

100

301

e
1
H
[Pl
oy

Z N H

8,000
6,400

240
1,360

6,740

1,260

09

=

>
I e
o
oy

O @
In
[~
m -
Im
Ao
to
o
<
HU
I
ox
Bl
02

(
,000,000&

Z W

8,000

8,000
6,400

240
1,360

6,740

1,260

307 g12+0]

o

=z N H

127,000
101,600
3,810
21,590

115,000

12,000

>
o
Jr
>
>
11
H
A

O
n
o
[~
m
Im
pis]
Of
oq!

=22 (2790)
127,000,000

= N W

127,000

127,000
101,600

3,810
21,590

115,000

12,000

c

HAEEDNS MY R X

{0

2,000

3,000

A 1,000

202 o4 Hl

2,000

3,000

A 1,000

01 SLHO I

OSEYAEE YREX

2,000,000

2,000
2,000

3,000

A 1,000

OtsS= X WA X &

224,393

139,506

84,887




SN ALSI S X
M ots=EXNSE
&??: OtsEX 20X CEERED)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

112,197
16,829
95,367

= Hn

101 1Al 224,393 139,506 84,887
112,197
16,829
95,367

= N H

04 DIt Z22XsE+ 224,393 139,506 84,887
OOtS=XI W AH9Y ) (&FBED]) 112,197,000& 112,197
56,099

8,415
47,683
OOts=XIWAHO9Y ) (GHBHDI) 112,196,000& 112,196
56,008

8,414
47,684

= N H

= M W

XNotsHlE 224 X2 (=34]) 969,850 883,440 86,410
484,925
72,740
412,185

= M W

307 21201 & 969,850 883,440 86,410
484,925
72,740
412,185

= N W

10 A SAAEHE2SHIEX 969,850 883,440 86,410
EN

OXdotsdE 2L (140 x) 969,850,000 969,850
484,925
72,740
412,185

= W

n
4
o
Jd

g XNAotsHe =X 43,848 43,848 0
21,924
3,289
18,635

= MW

307 2I2t01 ™ 43,848 43,848 0
21,924
3,289
18,635

= MW

NEHE2SEHIEX 43,848 43,848 0
S NGotsHdE X (6HA)
43,848,000 43,848

21,924
3,289
18,635

= N W

HN
0
Ho
0
Pl
e
=)
O
[z
@
I
S
paa
0

3,648 3,648 0
1,824

274
1,550

=z MW

307 glztol & 3,648 3,648 0




2N

X ZH
S =

el

Akl = X1 ot
P ots=ENsd
OtsSX =210X&

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

= Hn

1,824
274
1,550

10 A SXAEHE2SEHIEX

OER2Y XNAotsdH FIOXA(1HL)
3,648,000%

= MW

3,648

3,648
1,824

274
1,550

3,648

=X otsHE X&

= MW

26,620
13,310

1,997
11,313

25,718

902

307 21201 &

= MW

26,620
13,310

1,997
11,313

25,718

902

26,620,000

= N H

26,620

26,620
13,310

1,997
11,313

25,718

902

ASotsdEH S3Hd K&

= 0N W

50,000
25,000

3,750
21,250

60,000

A 10,000

307 21201 A

= N

50,000
25,000

3,750
21,250

60,000

A 10,000

10 A SAAEHE2SHIEX
H

OXOISHE SAME KA (ML)
50,000,000

= MW

50,000

50,000
25,000

3,750
21,250

60,000

A 10,000

= M

459,902

142,195
317,707

415,378

44,524

2,000

2,000

2,000

2,000

m
o
0z
>
N
I
0mn
e
Ho
fon

PRI E (18])
2,000,000&

2,000

2,000

2,000

ASG0tsSdEH s8w0A A&

H

179,928
89,964

175,896

4,032




AN ALEI =X
3 ois=Asd

el Ot =X LEHRIA (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 89,964
307 glz2tol & 179,928 175,896 4,032
< 89,964
Al 89,964
11 AISI S AASEE = 179,928 175,896 4,032
OXZGotsHEH SsSWA XI&(14%)
179,928,000& 179,928
< 89,964
Al 89,964
NGotsdE EJI18L WA X 34,560 34,560 0
S 13,824
Al 20,736
307 glz2tol & 34,560 34,560 0
< 13,824
Al 20,736
11 ALSI S XA E = 34,560 34,560 0
OXgotsdH SIEYE ns2A XA
960,000& x3H 128 34,560
< 13,824
Al 20,736
ANEotsdH S22+ X& 47,400 46,800 600
= 18,960
Al 28,440
301 LEHZ 47,400 46,800 600
< 18,960
Al 28,440
01 A3l EE E 56l = 47,400 46,800 600
OXNYOotsSHEH BAX S22 (33Y)
47,400,000 47,400
< 18,960
Al 28,440
OtsS S XA K& (XHA) 600 0 600
201 Let249] 600 0 600
01 At 22l 600 0 600
OOS=EXNA HE HERAR A =
100,000 »3H »23| 600
ANEotsdH 298 =t A& 102,750 63,150 39,600
307 21201 A 102,750 63,150 39,600
10 ALSISXAIEEER2IHEX 12,750 12,750 0
Odichart] X2 (14042 ) 12,750,0002 12,750
11 AISI S AAISEE = 90,000 50,400 39,600
24l FIF X3 (140 4) 90,000, 000& 90,000
ZHSE XGotsdE X2 29,280 28,560 720
< 11,712
Al 17,568




AN ALEI =X
3 ois=Asd

Sl OFS =X YBHA & CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 29,280 28,560 720
< 11,712
Al 17,568
10 ALl SXAIEEE 2 H EX 29,280 28,560 720
OHMSE XEotsHE(1I4A) 29,280,000 29,280
< 11,712
Al 17,568
ANootsdye 2523 XA 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
11T MISRASER 4,000 4,000 0
OXNgot=sHy gHE3 XA 4,000,000 4,000
ANA0tsSHEH SASALG 21A4H K& 33,600 33,600 0
301 LA F 33,600 33,600 0
01 AR 2Z A 53 33,600 33,600 0
OXSOotSHEH SASAMI Al X
200,000 1404 2 +12& 33,600
ANEotsdH ME sl 19,450 19,000 450
< 5,835
Al 13,615
307 21201 A 19,450 19,000 450
< 5,835
Al 13,615
11T M3 SRASEEX 19,450 19,000 450
OXYotsdE Megasdl XA
50,0003 389 * 13| 19,450
< 5,835
Al 13,615
ANA0tsdH 2XeE AHA 6,334 7,812 A1,478
< 1,900
Al 4,434
307 glz2+ol & 6,334 7,812 N1,478
< 1,900
Al 4,434
11T MISAASEX 6,334 7,812 A1,478
OXY0otsdE 2ALEAMEIA £X & RXHI
(1400 2) 6,334,000 6,334
< 1,900
Al 4,434
YJU=E Ots=A A 8,672,086 8,191,058 481,028
= 4,302,888
J| 76,570
< 1,239,777
Al 3,052,851
Ots=XIJIE &= 73,340 71,760 1,580




AN ALEI =X

M 3 YJY= Ots=EX AE
& OtsSEXIIE &= (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ors=XEx = 20,340 18,760 1,580
201 £B-2d| 6,040 3,860 2,180
01 At 22l 5,800 3,500 2,300
OFAHE 2% 2L HASAY 25
100,000& »19H »23| 3,800
OOtsSEtHH g ns 2A=E 500,000& 500
OO 0I=0lAIE BIINEBA =5
250,000 *6H & 1,500
02 2324l 240 360 A 120
OSE0E0I=0lE MRS (EH=01E)
240,000 240
202 o4dl 1,400 2,000 A 600
01 = LH o4 1l 1,400 2,000 A 600
OOtsSAIEEE & A=A 1,400,000 1,400
301 LA F 300 300 0
12JIE243 300 300 0
ORESOs A2 Z &I 10,000& 30 300
307 glz2tol & 12,600 12,600 0
11T M SXAIS EX 12,600 12,600 0
OAEOtES HEolg &AL &It NI
1,500, 000& 1,500
OAMHOts M=Us &It X 1,500, 000& 1,500
OA&0ls delddg &€ g X3
80,000 12 x 102 9,600
Helol =01 Ald /Xl B 15,000 15,000 0
401 A& HIZ 201 8] 15,000 15,000 0
01 A& HI 15,000 15,000 0
O=SE0elol=0le RXE2=(64)
15,000, 000& 15,000
Oelole A 38,000 38,000 0
307 glz2+ol & 38,000 38,000 0
11T M Z2XAS EX 38,000 38,000 0
OUE0le A 38,000,000& 38,000
Ots2 Ad=s4d 5,452,222 4,978,708 473,514
= 4,302,888
J| 42,070
< 470,847
Al 636,417
YAOSIHENA (L2 TH) 54,000 46,800 7,200
J| 37,800
< 2,430
Al 13,770




2N
X XH: &
o = =

el

Akl = X1 ot

Off &t 24

=

i
2

Jl

= M

54,000
37,800

2,430
13,770

46,800

150,000& »30F ~12&

=z N

54,000
54,000

37,800
2,430
13,770

46,800

7,200

OlS2E2XNEAHAMN NXSHILEER

= Hn W

87,360
61,152

3,931
22,277

87,360

wW
<
e
rc
HL
o
oy

= Hn W

87,360
61,152

3,931
22,277

87,360

01 At3l

)
Oootsg XA

[val

b X2 (182¢)

87,360,000&

= M W

87,360

87,360
61,152

3,931
22,277

87,360

HAZAH(OISEXAE)

= N W

200,000
180,000
14,000
6,000

195,000

5,000

307 glz2tol ™

= N W

200,000
180,000
14,000
6,000

195,000

5,000

1A SXAIS 2 =

OMASOH(OtS=XIAIA)

200,000, 000&

= MW

200,000
200,000

180,000
14,000
6,000

195,000

5,000

Al

700

490
210

700

Jl
Al

700

490
210

700

700,000&

Jl
Al

700
700

490
210

700

J|

5,400
3,780

5,400




2N
X XH: &
o = =
el

(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 243
Al 1,377
301 LEAZ 5,400 5,400 0
J| 3,780
= 243
Al 1,377
01 MEIBEZE 06z 5,400 5,400 0
ogggsd & HslH& XJ 2,700,000 2 5,400
J| 3,780
< 243
Al 1,377
AbotsE8sdzlla 22013/88) 17,288 16,250 1,038
308 XtXIEHH SOl A 17,288 16,250 1,038
07 X SHH2L RS S 17,288 16,250 1,038
OXgotsEsdzZI& 28 232
17,288,000& 17,288
ANSEtsESdE2I2 22 (XAM/XH) 9,363 4,136 5,227
308 XXM SOl A 9,363 4,136 5,227
07 IXNSHHURE = 9,363 4,136 5,227
OXG0lsEsd2II 22 AZRES
9,363,000& 9,363
Ots+=% K& 4,962,581 4,558,800 403,781
= 3,970,065
< 446,632
Al 545,884
301 LEXZ 4,962,581 4,558,800 403,781
= 3,970,065
< 446,632
Al 545,884
01 MEIBZE 06z 4,962,581 4,558,800 403,781
Oots< K& (4,248%) 4,962,581,000& 4,962,581
= 3,970,065
< 446,632
Al 545,884
Ots=% XIXH ALY FZH| 710 742 A32
2 497
< 64
Al 149
201 Let24d] 710 742 A32
2 497
< 64
Al 149
01 At 2teltl 710 742 A32
OOts==% XIAHM AL =&Y 710,000& 710
= 497
< 64




2N
X XH: &
o = =

el

Akl = X1 ot

Off &t 24

=

i
2

149

= W

108,000
86,400
3,240
18,360

56,700

51,300

= W

108,000
86,400
3,240
18,360

56,700

51,300

01 MBIEEZ X +dl=
OAlE, IHEAEY ESEZ0S

30¢)

= M W

108,000

108,000
86,400
3,240
18,360

56,700

51,300

= M W

6,820
4,774

307
1,739

6,820

307 21201 &

= N W

6,820
4,774

307
1,739

6,820

A S XA E X

OAEd A ZAHEXR
bl X (4%)

or

Ol B AtHI & Atdll2el

6,820,000&

= W

6,820

6,820
4,774

307
1,739

6,820

2Jl& ots=X

H

Al

3,146,524

34,500
768,930
2,343,094

3,140,590

5,934

tm
B
He
T
fon
O
Y
=}
o
=
it
04
Ja
oy

H

Al

30,000

3,000
27,000

20,000

10,000

H

Al

30,000

3,000
27,000

20,000

10,000

,000,000& 6

H

Al

30,000

30,000

3,000
27,000

20,000

10,000

t

Al

67,200

6,720
60,480

76,800

A 9,600




2N
X ZH -
L= B

el

Akl = X1 ot
UU=E Ots=X &

2I|& ots=X

SA - BB B () - MM - BES Ol &t o San HmEET
301 LEHZ 67,200 76,800 A 9,600
< 6,720
Al 60,480
01 MEI2EZE 45z 67,200 76,800 A 9,600
Ot 200,000& 28K x12& 67,200
< 6,720
Al 60,480
Qu=dt=a XA 2,000 2,000 0
< 600
Al 1,400
301 LEPEXF 2,000 2,000 0
< 600
Al 1,400
01 MEIBEE 053 2,000 2,000 0
Oged=dt=s N 1,000, 000& »2H 2,000
< 600
Al 1,400
IS stsas N 22,080 22,760 A 680
< 2,208
Al 19,872
301 LeEBAF 22,080 22,760 A 680
< 2,208
Al 19,872
01 MI28HE+06l= 22,080 22,760 A 680
OAHAHIE L IIEAE0LS X2 (28F)
22,080,000 22,080
< 2,208
Al 19,872
ZAOIS S AN (XA /KR ) 971,745 1,013,087 ~41,342
= 291,520
Al 680,225
301 LeEBAF 453,087 473,087 220,000
< 135,926
Al 317,161
01 AR 2Z A5 3 453,087 473,087 220,000
OZAOtSZ A Xl (1,334Y) 453,087,000 453,087
< 135,926
Al 317,161
307 glz2tol & 518,658 540,000 AN 21,342
< 155,594
Al 363,064
11T M SXAIS EX 518,658 540,000 N21,342
OZAsSSAXNA(XNSotsHEH 14H2)
518,658,000 518,658
< 155,594
Al 363,064




©OAEI = X

M 5lYA=s =X AE

D EJIE ot s=EX

(o
SA - "B E (3 H) - A2 %Ei HD=2
AMotsasAX&A 80,850 116,050 N 35,200
== 80,850
301 et A= 77,350 116,050 A 38,700
= 77,350
01 Al E & A £ 77,350 116,050 A 38,700
OZA0ES B HHYS) (175
) 77,350,000 77,350
& 77,350
307 2Iz2t0| & 3,500 0 3,500
= 3,500
11 A EXAIEEX 3,500 0 3,500
OZ2Aotssa X SHEH EQ2Y9)
3,500,000& 3,500
== 3,500
OFsSEXAE2Y ,597,536 1,512,170 85,366
o= 239,630
Al , 357,906
307 2I2t0| & ,597,536 512,170 85,366
o= 239,630
Al , 357,906
10 AISI S XAl Y ,597,536 1,512,170 85,366
O0ts &= Al 1,597,536,000& ,597,536
= 239,630
Al ,357,906
OFS=EX AL Ots < 159,500 177,830 A 18,330
& 63,800
Al 95,700
307 2iz2tol A 159,500 177,830 A 18,330
& 63,800
Al 95,700
11 M S XA 159,500 177,830 A 18,330
OO0ts= XAl S (M)
159,500,000 159,500
& 63,800
Al 95,700
OIS EXNANEESANELZE S 78,600 73,800 4,800
& 31,440
Al 47,160
301 et A= 78,600 73,800 4,800
== 31,440
Al 47,160
01 AISIE &AL 78,600 73,800 4,800
O0ots = XAl E4£2245(34Y)
78,600,000 78,600
& 31,440
Al 47,160




©OAEI = X
e YyU=E otsS=EA A

D EJIE ot s=EX

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
RES0ls 88 22 86,250 82,335 3,915
| 34,500
< 7,762
Al 43,988
307 gl2tol & 86,250 82,335 3,915
J| 34,500
< 7,762
Al 43,988
10 M3 SXNANEHI2IHES 86,250 82,335 3,915
O0t=sZ=sdEINE(O8E) 224 XN (1A
) 86,250,000 86,250
| 34,500
S 7,762
Al 43,988
OFS=EX AL A XA S M A 41,400 41,400 0
< 41,400
301 LBEAZ 41,400 41,400 0
< 41,400
01 A3l EE H 56l = 41,400 41,400 0
OOts=RAIE SALA ML 41,400
-Ols2SAIE 50,0003 36«12 21,600
< 21,600
-X < otsdH 50,000 *33Y x12& 19,800
< 19,800
ZIE OlsSESHEII 2 SAN Ex222EY 2,157 2,358 A 201
308 XXM S0 A 2,157 2,358 A 201
07 XXM RES 2,157 2,358 A 201
OZJ& OlSESHI2IN2 BMKL S22
=4 2,157,000& 2,157
dI|E OlsE3sdEZol& elddl XA 7,206 0 7,206
308 XSO 7,206 0 7,206
07 XXM RE S 7,206 0 7,206
OZJ& OtsEsdEJI& 1248 XA
7,206,000 7,206
HY2FZH (A3 =X D) 245,244 256,687 A 11,443
= 110,120
= 5,843
Al 129,281
Jl=2Z I (Ar2 = Xl 1) 55,460 53,840 1,620
Jl2ddl (Atgl = X 1) 55,460 53,840 1,620
201 Let2dE] 16,700 17,000 A 300
01 At 22l 16,000 16,000 0
ORM2E AR 2] 16,000, 000& 16,000




2A AFE =X
M HH2HAH (A =X D)

oT o

¢l J23HI (Al S X 1) (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 700 1,000 A 300
ORERI(SIILELS 8) 700,000& 700
202 (44l 34,560 32,640 1,920
01 S LHOYI 34,560 32,640 1,920
AR A 204l (18Y) 34,560,000 34,560
203 B R =&l 4,200 4,200 0
04 FEXNSELR=LH| 4,200 4,200 0
ORMSIERFTHI (252! 0lat)
350,000& 122 4,200
ol 2 AU (AL =S X 189,784 202,847 A 13,063
= 110,120
< 5,843
Al 73,821
FANES OlsSSEMEIA XA (2HHl) 115,779 125,760 A 9,981
= 76,000
< 2,850
Al 36,929
101 @124l 115,779 125,760 A 9,981
= 76,000
< 2,850
Al 36,929
03 RIAHAZZ N E =+ 115,779 125,760 A 9,981
OOtS S & At ZelAHSR2) 2 115,779
JlE2s(BH=EX1, 2519/2544)
(2,133, 1003 »2H « 128 )+(2,282, 330 1L 1 78,583
2d)
= 62,867
< 2,357
Al 13,359
-ABIEE JI2RE=2 2 EAAEESs
6,500,000& 3 19,500
= 12,333
< 463
Al 6,704
-0l 1,000, 000& 1,000
= 800
< 30
Al 170
OIEIRAY(PASXT, 251E/2844)
(15,320& 2 5 Al 2h %128 )+( 16,4009 1 *5 2,823
A2bx12€)
-hEE 130,000 »3H 122 4,680
SONRIENSL(BASX, 2519/284
H) (81,6803 *2H 52 )+(87,4402 1 x5 ) 1,254
~HESIH(EAST, 25149/2544)
(2,599,720& x2H )+(2,738,800& 1 ) 7,939




SN AB=X D
M HNY2AAH| (A3 =X D)
Bl A2 AH (A =S X e

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

OtsS=EX A XI&(224l) 34,396 25,000 9,396
15,231
2,285
16,880

= N H

101 1Al 34,396 25,000 9,396
15,231
2,285
16,880

= N H

03 I AHAAN2 22+ 34,396 25,000 9,396
OOts S X WAL K& (XIS AFS] S XIAH) 34,396
-Jles 2,133,100 1« 12& 25,598

12,799
1,920
10,879

= W

4

<
on
H
oo
N
el

Ctr g
=]

=] D | E|IIX
= =

2l
== =]

4,864,000& 4,864
2,432

365
2,067
g 60,000 x128 720
s8tsd 81,6803 x8& 654
] 2,559,720 2,560

= M W

Is2sdERd =& 39,609 0 39,609
18,889

708
20,012

= MW

101 1Al 39,609 0 39,609
18,889

708
20,012

= MW

03 RIHLZ 22> 39,609 0 39,609
OOtSESMYAH(SRA) b (1Y) 39,609
JI22(EHER1, 2834)
2,282,330 «12& 27,388
18,889
708
7,791

Z W

-AEEEIIBREE ¥ SENYS

6,500,000& 6,500

—FIRAY(RASI, 2434)

16,4003 »5Al 2t12& 984

-bEE 130,000& = 12& 1,560
SEFH=(BA=X1, 2534)

87,4403 x5 438

-HEZIHH(EHEX1, 25349)

2,738,800& 2,739




